Stanovisté: 4 — Donutovad

Kod: hrnek

Ndpovéda: +30 minut

Upresnéni dalsiho stanovisté: zapadni konec, strom

N
foyoods 2 R
AO|S %
$<
(<]
o . > i 2
® o schodisté & misto 2
s N .
2V
o (4 .
edojs % h¥ib 'b(é' Kunin
{
o« % o
x & S, =2
5] s % 301|s12 < \ @
B E3 “, e S 6\& e %
< Yo [N (,‘}
nnoxez ¥
9]
. 0 2 o
© (4} ‘o) = S
j=3 Q,'\ Q. S o <
S < ¢
g Ay éoo, ’ 3
ewniq _ N eaejep
zadnice mysleno ’
.
o S S =
2 % .
E % & ] a
> el %%,
<& stanovisté nehledej (> stfedy
2, &
g dalsi e ©YA03SIOW ) g
S &, 2. =
lapka jdi doly Ay napovi
° > =
~ ° m
o % 8 3
) ) = \, X
a .‘?Q) . 6\0
> < ®
= @éf" §
£ poradi S 1se) S,
© < =
2
Q‘Q& QQQ &
o 2 100° &
S P
AN XN
#. = g
=
N o 3 % g
K O ) K2 o)




